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(Skill Enhancement Course )

Answer the Questions from any one Option.

OPTION-A

(Nursery and Gardening)
Paper : BOT-SE-4014

OPTION-B

?  (Floriculture)
I  Paper ; BOT-SE-4024

OPTION-C

(Intellectual Property Rights)
Paper : BOT-SE-4034

Full Marks : 50

Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

(Nursery and Gardening)

Paper : BOT-SE-4014

1. Answer the following questions : 1 *4=4

RtlPlte SfSR 8'

(i) In relation to nursery and gardening,
what is a ̂ mother plant' ?

^ iSHJHfi'tJM ft

(ii) What is 'gootee'?

(in) Name one ex-albuminous seed.

(iv) What is the meaning of 'CAD*?

'CAD'-?'Sl^ft?

2. Answer the following questions : 2x3=6

RssiPil^ o

(i) What is transjplantation ? Why is it
necessary? 1+1=2

8lvojlo^i^41% ^ ?
*  . . f
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(ii) What is air-layering?

(Hi) Draw a neat labelled diagram of a maize

seed.

i5P?R I.

3. Answer any two of the following questions:

5x2=10

^ 2m ̂  9pi\ z

(i) Write about glasshouse and its uses.

9^\

(tt) What is seed dormancy? Write about

the biological significance of this

phenomenon. 2+3=5

(Hi) Write briefly about the various steps
involved in raising a seedling

successfully.

^  fpir I
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(iv) Write a note on the different methods
of irrigation.

vffOt

4. Write any three of the following questions :
10x3=30

(i) What is IPM ? Write about the various
methods of pest msmagement.

2+8=10

1PM ̂

(ii) Write short notes on : 5+5=10

(a) Mughal Garden

(b) Landscape garden

coTQi:^'^ 4T

(Hi) What is vegetative propagation ? Write
about the different methods of
vegetative propagation that you have
studied. 2+8=10
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(iv) Write the scientific name of the

pathogen, disease symptoms and

control measures of the following

diseases.:

(a) Late blight of potato 1+2+2=5

(b) Early iDlight of tomato 1+2+2=5

^

1^?!^

(a) ^5it^ C*t^^

(b)

(v) What is cold storage ? Write a note on

tJie objectives and methods of storing

fruits and vegetables after harvesting.

2+(4+4)=10

1%

'srR; "511^ '31n^®R
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(vi) Discuss about the advantages and
disadvantages of propagation through
seeds. ' 5+5=10

^ I . .

3 |Sem-4/CBCS) BOT SE 1/2/3/G 6



OPTION-B

(Floriculture)

Paper : BOT-SE-4024

1. Choose the correct answer : 1x4=4

(i) Most epiph3^c orchids can be grown
in

^ %r

(a) Tree fern

(b) Fir bark 41^^)
(c) Cocochips

(d) All of the above

(ii) Upper leaves which show interveinal
chlorosis probably due to

'sn^ ^

(a) lack of water
•9ft^

(b) e sulphur deficiency

(c) an iron deficiency

(d) a nitrogen deficiency
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(Hi) The type of plant that lives for more

than two years is

(a) annual (sSj<i>q^)

(b) biennial (1^^)

(c) perennial

(d) None of the above

(iv) The best time to water flowering plant .

is

.  -

(a) in the morning

(b) in the evening

(c) in the middle of the day

R-ldJH ̂  ̂9f5 ■ ■

(d) at night
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2, Describe briefly the following : 2*3=6

(a) Topiaiy

(b) Pinching

(c) Hedge

'  3, Answer the following questioris : (any two)

5*2=10

^  •? pt)

(a) Write on the scope of floriculture.

-SjSTfvfloW 'S>|^71^ r

.  (b) Discuss on defoliation.

(c) Discuss the. important features of
Japanese garden.
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(d) Discuss about soil sterilization.

4. Answer any three from the following
questions: 10^3=30

■  foR9l ,s

(i) Give an account on the production
technology in Rose/Dahlia and "its pest
and disease management.

d^noTt»t/wi#iirR

jfi?f

(ii) Explain the role of auxin, cytokinin and -
gibberellin in plant growth and
development.

4jHjf ̂ 1

(iti) Discuss in detail the importance of lawn
and flower beds in garden designing.

^ ̂ ^ f1»t4TR 13^
^1
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(iv). What da you mean landscaping?
Write a note on the basic, principles of
landscaping educational institute.

(uj Write about. the effect of lijght,
temperature and water on indoor plants
and discuss about the mane^ment of
coriimon problems of indoor plants.

1^-

(in) What are the prerequisites for flower
. arrangement ? Discuss ' different
methods of flower arrangement.
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OPTION-C

(Intellectual Property Rights)

Paper : BOT-SE-4034

1. Answer the following questions : 1x4=4

.  (a) Where is the head-quarter of WIPO
located?

(b) Name the product of Assam which has

recently got the geographical indication

tag.

(c) Give two examples of intellectual
property which are protected by
cop5aight.

(d) Which type of intellectual property can
. protect distinct sign for indefinite
period?

2. Write short notes on the following :

2x3=6

(a) Benefit sharing
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(b) Patent requirements

(c) Concept of traditional knowledge

3. Write detailed notes-on any two of the

following : , 5x2=10

(a) Bioprospecting and Biopiracy

(b) Transfer of copyright

(c) TRIPS .

(d) TKDL

4. Answer any three of the following

questions: 10x3=30

(a) What do you mean by IPR? Briefly

discuss how the v^ous types of IPRs

protect intellectual property.

2+8=10
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(b) Discuss briefly about the procedure of

patenting and its limitations, -

.  6+4=10

(c) Write an illustrated account on the

Protection of Plant Varieties and

Farmers' Rights Act, 2001. 5+5=10

(d) What is meant by concept of novelty?

Discuss about the moral issues in

-patenting biotechnological invention. -

• 2+8=10

(e) Define GI, How does it differ from

Trademark? Write in brief abotit the

justification for GI protection.

2+2+6=to
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(f) Mention the works protected under Ae
copyright. law. Is computer software a
copyrightable item ? What are the
limitations of copyright? Explain the
concept of infringement and exception
in context of cop3aight.

3+1+2+4=10
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